How to get the hole circle for 3 and 5-hole disc

Please use a hole spacing and multiply it with the factor in the table

5-hole disc

3-hole disc

ax 1,15 result? in
hole circle
a;b;c with @
61 70
62 72
65 75
69 80
73 84
74 85
78 90
82 95
84 97
87 100
99 114

dx 1,05 | ax 1,70 | Ut
hole circle
d a with @

57 35 60
79 49 83
85 52 89
88 55 93
95 59 100
97 60 102
99 61 104
100 62 105
101 62 106
103 63 108
105 65 110
106 66 112
107 66 113
108 67 114
110 68 116
122 75 128
128 79 135
133 82 140
143 88 150
152 94 160




